8. kiR (FHISERE)

(1) EPEE R ERHRAR 3
N H B % % 7
M 0 SE|E 5%
s M(EEYK HE Rk £%8 Rk = ALt
ik 15%2) (t) (%) (FH) (%) (t) (%)
NEM A EH TS 6 6 215,048 82.3| 39,957,137 80.5 53,391 83.8
g [REMGEHEMS 13 13 46,319 17.7| 9,684,192 195 10,303 16.2
& &t 19 19 261,367 100.0| 49,641,329 100.0 63,694 100.0
= H B f A
YN 0 SE|E 5%
™5 HEEH = Rk £%8 Rk = ALt
& (s (t) (%) (FH) (%) (t) (%)
NEM A EH TG 5 6 19,177 100.0| 20,820,543 98.6 7,423 100.0
wy | R E 5 E TS 1 294,590 1.4
& &t 6 7 19,177 100.0| 21,115,133 100.0 7,423 100.0
- = H £ 1t %
1E 0 SE|E 5%
™5 HEEH = Rt £%8 Rt = AL
ik =%, (t) (%) (M) (%) (t) (%)
NERH A EN TR TS 1 1 838,448 38.4
RE#HEHFTEHS 2 2 1,344,517 61.6
& &t 3 3 2,182,965 100.0
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= z 0 f I
S8 | WAL | BB | ML | 2E | MRk | ME | #wew | S8 | #ew
(FA) | (%) (1) %) | FA)_| o) (1) %) | FA) | (o)
20,544,610 84.1 1,943 63.4 470,262 67.0 270,382 82.4| 60,972,009 81.5
3,889,513 15.9 1,121 36.6 231,545 33.0 57,743 17.6 13,805,250 18.5
24,434,123 100.0 3,064 100.0 701,807 100.0 328,125 100.0( 74,777,259 100.0
* z 0 f I
&8 | #EL | BB | ML | 2E | HEk | ME | wew | S8 | #ew
(FA) | (%) (1) %) | FA)_| o) (1) (%) | FA) | o)
10,087,147 98.1 12,133 100.0| 11,624,597 98.3 38,733 100.0 42,532,287 98.4
196,260 1.9 198,943 1.7 689,793 1.6
10,283,407 100.0 12,133 100.0( 11,823,540 100.0 38,733 100.0 43,222,080 100.0
z 0 I
S8 | WAL | BB | ML | 2E | MRk | ME | #ew | S8 | #ew
S IRCD (1) %) | FA | o (1) %) | FA) | o
166,444 87.1 56,103 276 1,060,995 41.2
24,548 12.9 147,143 72.4 1,516,208 58.8
190,992 100.0 203,246 100.0 2,577,203 100.0
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